THE CURIOUS INCIDENT OF THE DOG IN THE NIGHT-TIME

THE OPENING - READING GUIDE – CHAPTERS 37-53 (pages 24-37)

Answer the following questions briefly about chapters 43 and 53 – ½ the class.
1. What do these 2 chapters have in common?

They are both about Christopher’s mother’s death.

2. You learn a few things about Christopher’s father here:

First name: Ed
He works in: heating maintenance and boiler repair
He has an employee called: Rhodri
As he has an employee, we can infer that: he owns a company, he is his own boss.
When he told Christopher about his mother’s death, he didn’t look at him. What could that betray, in your opinion?

It could betray overwhelming grief, shame or maybe the fact that he is lying.

3. You learn a few things about Christopher’s mother’s death here:

She died 2 years before Wellington.

She was 38 years old.

She died of a heart attack.
When she died, she had been in hospital for 2 weeks.
In that time, Christopher: saw her several times (
saw her a couple of times (
 didn’t see her at all (
That was: 
Christopher’s decision (
his father’s decision (

his mother’s decision (
Christopher was:
surprised by her sudden death (
not surprised by her sudden death (
Explain why, briefly:

He was surprised because she lived a healthy life – she ate properly and exercised regularly.

Christopher:
made a card for her in art class (
bought a card for her (
It represented:

brown cars (
yellow cars (
blue cars (
red cars (
On the day his mother died, who came over to cook for them and comfort them? Mrs Shears.
THE CURIOUS INCIDENT OF THE DOG IN THE NIGHT-TIME

THE OPENING - READING GUIDE – CHAPTERS 37-53 (pages 24-37)

Answer the following questions briefly about chapters 37, 41 and 47 – ½ the class.
1. If Christopher tries to tell a lie, what happens to him? Pick out 2 adjectives he uses to describe the state it puts him in.

He gets all confused because he tries to imagine all the alternatives to the truth, which is impossible, and it makes him dizzy and afraid.

The 2 adjectives are: shaky and scared
The consequence for him is that he can’t lie.

2. On their way home from the police station, Christopher has a conversation with his father.

Christopher gives his father 2 pieces of information concerning:

The dog: he didn’t kill Wellington.
The murderer: he wants to find the person who did this.
His father’s reaction is:
 
pride (
joy (

anger (
3. Upon arriving home, Christopher:

Feeds his pet (
reads a book (

stares at the stars (
plays games on his computer (
Is any of this surprising, given the time of day?

As it is past one in the morning, Christopher should go to sleep instead of playing games.

In the meantime, his father is:

Listening to music (

watching TV (

crying (
drinking (
4. Christopher’s theory about seeing cars on the way to school + various information about him.

5 red cars in a row = super good day

4 red cars in a row = good day

3 red cars in a row = quite good day

4 yellow cars in a row = black day

In this last instance, what does Christopher do?

He isolates himself and doesn’t even eat.
What does Christopher rely on to live his life? order / logic
What adjective does Mr Jeavons - the school psychologist – use to describe Christopher? clever
What is the adjective Christopher uses to describe himself? observant
What is Christopher’s dream? To become an astronaut.
What are the obstacles? Being unable to take orders and not having 20/20 vision.
What doesn’t seem to be – surprisingly – an obstacle? Being capable of killing people.
What is Christopher’s ambition? Studying math and /or science at university.
Why does Christopher start writing about Wellington’s death? Because writing is a school assignment.
